Pack 2 Week 1 Answers:

Day 4:
Reading: Jacqueline Wilson pg 8

1.Age 22.

2.Because they are formal and she

doesn’t write that way.

3.Because it is her saddest book.

4.Because dreams are distorted, you
don’t know where they come from
and she doesn’t know where her
next idea will come from.

5.She was thinking about it in the
bath and washed her hair with a

beaker.

6.Because she had been getting
letters from children for years and
never thought it would come true.

7.Free choice answer. (use evidence)

Arithmetic: Sheet 4
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Maths: Multiply by 10, 100, 1000

o Complete the multiplications.

a)
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T=10=

I x10=

200 % 10 =

d) what happens to the digits when you multiply by 107

e Complete the multiplication samtences.

a) 9x 10 =

b) 54 x 10 =

g 1W0x13=

d} 126 = 10 =

a) x 10 = 320
fl 10 x = 1,350
g) 20 x 10 =

h) x 10 = 5,000




o Multiply each number by 100 and then by 1,000

a) HTh | TTh | Th [ H T g x 100 =
g g x 1,000 =

b) HTh [ TTh | Th H T 16 x 100 =
1 & 16 x 1,000 =

M|t | w7 245 x 100 =
2 |4 5 | 245 %1,000=

d) Explain to a partner how you multiply @ number by 100

Ask them to exploin how to multiply by 1,000

o Complete the multiplication sentences.

a) 45 x 100 = g Mx10=
52 % 100 = 41 x 100 =
70 x 100 = 41 x 1,000 =

b) 612 x 100 = d) 10 x 952 =
715 x 100 = 100 x 952 =
720 x 100 = 1,000 x 952 =

o Write >, < or = to moke the stotements true.

a) ?51100?31103
b) 100 x 56 O 65 x 100
) 930 x 10 O 100 x 93
d) 1,000 x 482 O 482 x 100

/*"'s_rfx 1,000
| ls the same as

o
\"qu 10 = 10 = 1U J

I Rosle oorrecty

Explain how you know.




SPaG: Day 4 Questions
() Put a circle around the adverbs in these sentences.

The tortoise made its wayt{) the finishing line.

Sit downnd open your books.
She shuutet the misbehaving children.

i
(® Place the two most appropriate conjunctions from the box in the sentences
below.
before although until s0
I won't play on the PlayStation eIl | have finished my spelling
homewaork.

Tahir hurt my feelings although  he didn't mean to.

(Award 2 marks for 2 correct. Award 1 mark for 1 correct.)

(D Replace the underlined proper nouns in the sentence below with appropriate
pronouns. (The proper nouns have been underlined for you.)

Hana hid Henry's mobile phone in Hana's coat pocket.

(Award 2 marks forall 3 correct. Award 1 mark for 2 correct.)

(® Complete the sentence using a verb of your own in the past progressive tense.

| wasreadlng my book when you called.

(suggestion only)
{Award | mark for correct tense formation.)



